Dear Parents/Carers,

This week we harve prepared an ‘Al About Me’ booklet for the children to complete
and to be shared with their class teacher for Year 2. In school, we will be working
T cuggeat that: . complate o fow- sectons. sach doy and.use the headings. os
discussion points, and to raise and answer any queries about the move to Year 2.
Very soon you will also be provided with transition information, which we hope will
answer any questions. you or your child/children have about their move to the next
year group. Please remember that you can email us, Miss Brooks or me, if you hawve
PSHE

Year 2, friendships and feeling related to moving into Year 2. Friendships are very
important to consider at this time as children often begin to think about next year in
are being abandoned. It's important that children think about the preparation for

Bitezise - https://www.bbc.co.uk/bitesize/articles/zhmpnrd



https://www.bbc.co.uk/bitesize/articles/zhmpnrd

AUl About Me
This booklet's job is to help your feacher in Year 2 to
get to know a little about you so think carefully s you

to your new- teacher.

Nam,e:

ﬂu&map@u\eo}m: \

f\/\%bu\‘thda%bs:







my home

i

I lime with




My Top 3

What are your favourie things? Tell your feacher about your




AlL about me and school

@ )
\§
\_/
I remember doing these fun things in Year |
®

)



Sometimes 1 need erlp mith...




Spellings
Please proctise these spellings thot contain phase 2 and 3 sounds. Wirite a
sentence for each of the mords listed helow: Remember to use your hest, cursive
N
If you're in school, me mwill practise these and complete a spelling fest on the
following Monday.
Good luck!



Varied Fluency

Step 1: Recognising Coins

Recognising Coins

Maths

Recognising Coins

1a. what is the value of each coin?

1b. what is the valve of each coin®

.® - @

| ¥

2a. Circle the coins that fotal 4p

2b. Circle the coins that tofal 20p.

3a. Circle fhe coin with the least value.

7

3b. Circle the coin with the most value.

& - e

| v

4q. Order the coins from least to most
value.

T

db. order the coins from least fo most
valee.

5a. Use one coin fo complete the part

whole model.

5b. Use one coin fo complete the part

whaole modael.




Recognising Coins

Recognising Coins

&£a. What is the valve of each sef?

&b, What is the valuve of each s=t7?

S0 %

7h. Circle the coins that tofal £3.

Ba. Circle the set of coins with the least
value.

%%

ab. Circle the set of coins with the most

%%

#a. Order the coins from least to most
value.

P .

#h. order the coins from least fo most
value.

& .

10a. Use two of these coins fo complete
the part whole model.

10b. Use two of these coins to complete
the part whole model.

()& @ ®




Recognising Coins

Recognising Coins

11a. What s the value of each set?

g %
'I.I:-':“'l_.l -

11b. What is the valuve of each set?

B
'x_l:l'" -

i
"-uE._ by
1

——

12b. Circle the coins thal total s0p.

- 902H O

iy

_'.F':? wr

13a. Circle the set of coins with the least

value, !
Ty

13b. Circle the set of coins with the most
value._

X

14a. Order the coins from least to most
value.

14b. Order the coins from least o mast
valoe.

X KN X

M e

h— e wr
15b. Use three of these coins to complete
the part whole model.




Varned Fluency
Recognising Coins

Developing
la. a.£2; b. 5p
2a. Zp and 2p
ja. 1p

4a. 1p, 2p. 10p
S5a. 1p

Expecied

da.a. £3; b. &0p
7a. 2p and 20p
8a. Zpand 1p

fa. 1p, 2p. 50p, £2
10a. 10p and 10p

zreater Depth

114. a. 1&4p; b. 80p

12a. 20p. 20p, 5p

13a. 2p, 10p, 1p

14a. 1p,. 5p. 10p, 20p, £2
15a. 20p. 20p, 1p

Vared Fluency
Recognising Coins

Developing

1b. &. 20p; b. 2p
2b. 10p and 10p
3b. £1

4b. 20p, 50p, £2
5b. 5p

Expecied

&b. a. 24p:b. 11p
7b. £2 and £1

8b. £1 and 20p

fb. 1p. 10p. 20p. £1
10b. £2 and £1

Greater Depth

11b. a. 57p; b. &1p

12b. 20p. 10p, S50p

13b. £2, £1, 50p

14b. 1p, 2p, 20p. 50p, £1
15b. 20p, 10p, 1p




Reasoning and Problem Solving

Step 1: Recognising Coins

Recognising Coins Recognising Coins
1a. 5am has fwo coins in his pocket. They | 1b. Alix has fwo coins in her pocket. They
total 4p. fotal £4.
His friend Kate says, Her friend Ferhan says,
Sam must have a Alix must have two
3pcoinand a1p £1 coins.
< - . Cin.
Is she comect? Explain your answer. Is he corect? Explain your answer.
2a. Complete the tabile. 2b. Complete the table.
Numbear HNumber
iCiolini Walue of sdes Calaur Colni Walue of sides Calagur
. 2p 1 s5p silver
. silver
ﬂ 12 silver and £o .
girhd
3a. Make 4p using these coins. Use two ab. make 30p using these coins. Use three
Coins. Coins.




Recognising Coins

Recognising Coins

4a. Jerome has bwo coins in his pocket.
They fotal s0p.

His fiend Hamy says,

'J

Is he comect? Explain your answer.

Jerome must have
a 1p coin un-:l a sp

<

i
bl

4b. Fhillis has three coins in her pocket.
They tolal £5.

Her fiend Mikey says,

= J

I5 he comect? Explain your answer.

Phillis must hawve a
£2 cain u:|n||:l hwo £1

Sa. Complete the table.

5b. Complete the table.

Coin | value | LTt | e 1ps Coln | Value | Colour 'fiﬂm:
o | @ -

o | @me - 09
E o

‘.i-" 'LE:_?

£a. Make 15p in as many different ways
as you can using these coins. Use three
coins or less.

&b. Make 22p in as many diferent ways
as you can using these coins. Use three
Coins or less.




Recognising Coins

Recognising Coins

7a. Henry has coins in his pocket that
total 7op. They all have seven sides.

His fiend Luecile says,

8-

Is she comect? Explain your answer.

Henry could have 3

7b. Jemima has coins in her pocket that
fotal 25p. They are all silver.

Her friend Jack says,

Jemima cowld
have a 20p coin,
o two 2p coins and

1p coin.

Is he comeci? Explain your answer.

ga. Complete the table.

a8b. Complete the table.

[

Equizalent Humber Equivalent
Codn Value Colour valse In Sps Coln WValue o alcins value In 50ps
@ | e e
£2 1

Fa. Make 23p in as many different ways
as you can using these coins. Use four
coins or less.

fb. Make 17p in as many different ways
as you can using these coins. Use four
Coins or less.

=




Reasoning and Froblem Solving
Recognising Coins

Developing
1a. No because there is no such thing as a
3p coin. 3am must have fwo Zp coins.

2a. Humkar
Colh LT ol shchers 2 gy
. Zp 1 ronoe
. S0 7 slhvigr
sl
@& o | o |
podd

340.2p + 2p = 4p

Expecied
4a. No because 5p and 1p make &p, not

&0p. Jerome must have a 50p and a 10p
Coim.

54 Humrioer | Equiealeqnt
weihog In 1gs

Caln | Vake of dlded
10 lats of

.mp ! e
0 |

40.5p + 5p + 5p = 15p and 10p + 5p = 15p

Skabs ol 1p

Zkbo lp

Ereater Depth
7a. Ho becavse a 10p coin does not have
7 sides. Henry could have a 50p coin and

a 20p coin.
da.
Equivalant
Coln | Vol | Colowr | L
ﬁ 20p | siver | 4 lofs of Sp
10 lesks of
dip sitver Ep
Iip silver | 2 loh of Sp

bh. 20p + 2p + 1p = 23p
20p + 1p+ 1p + 1p = 23p
10p + 10p + 2p + 1p = 23p

Reasoning and Problem Solving
Recognising Coins

Developing
1b. No because two £1 coins total £2. Alix
muwst have two £2 coins.

Ill HMumbar

Coln Wialie ol sickes Cabayr
.' Fp 1 silyimr
&' pinlel 7 slhyigr

sllvet
E2 1 ansd
o

3b. 10p + 10p + 10p = J0p

Expeched
db. Mo because £2. £1 and £1 maks £4,

not £5. Fhillis must have hwo £2 coins and
a £1 coin.

sb.

Equi#nleni
Sain Volvs | plowm walwe b 10ps
‘ 515 8 P B lovls &l V0@
&~ - 00

gold
El and 10 horle o V0@

glwer

&b. 10p + 10p + 2p = 22p, 20p + 2p = 22p
and 20p + 1p + 1p = 22p

Greafer Depth

7b. Ho because 2p and 1p coins are
bronze. Jemima couwld have a Sp coin and
bwo 10p coins or a 20p coin.

B0 coin | vee | Hrmber | e
' £l 12 zm""
£ ! 4:;&

0 ) 1 o of $0p

fh. 1op + Sp +2p=17p
Sp+5p+5p+2p=17p
10p+Sp+1p+1p=17p



Varied Fluency

Step 2: Recognising Notes

Recognising Notes

Recognising Notes

1a. Mmatch these amounts:

-

-
) _ H
Yy
-
. -

'.n

"

i

- "
TN R s

o [y [Ty E15
% &

five
pounds

terenty
pounds

1b. Maflch thess amounis:

i R
e K Hirty
"’ o pounds
b e
- "
B. twenty
pounds
b, £
FE . g
| -
LS s

2a. True of false?

i

k.

e

B | - a0 e m

i

i R
- o]
» - 5 . —
1 ] i ]
e - o -
47 w

3qa. what is the value of these notes?

3b. what is the value of these notes?

i i *
W - w0
%, A
LS ., A
¢ - i y '*.
- Bl
|s - EBEEE -
] | |

b . A A

& % ]

44, dhb.
Y —

SN -
| L




Recognising Motes

Recognising Notes

5a. match these amounts:

-
A— i i
i £1s
o
, e
"'l B
| _ I’I EES
o
e, A
. a
©
'I
&

1y

thirty
pounds

5b. Mmalch these amounts:

-
(m.1]
£50
|
LS o
'Irn- (8 1] 1"
&
&
LY e
C b
C.
Lt ok fﬂr‘l‘f
ol p
L L]
LS -

vy .

&0. True or false?

II'-l E ]
¥ —
b,

g

&b. True or false?

Vsl & il ™ i
. ..? B J _
¥
e = L -

Wy .

7a. What is the valve of these notas?

7h. What is the value of these notes?

LY K

o o

. m*m_ =
. A

-

FE—
o Ty
oI

Y

N




Recognising Notes

Recognising Notes

¥a. Maich these amounts:

pounds

A. o) wm E
s.Xty H : m
. o
- v
thn \
- 4 0]

9b. maich these amounts:

£45

£75

eighty
pounds

10b. True or false?

\ | .
| I P |= o8
l\_,,,,_,w,f ,:,‘;, - ) v R TS
A
\-,Lf

vr

11b. what is the value of these notes?

8
How many
v

&




Varned Fluency
Recognising Notes

Developing

1a. & = £15; B = lwenty pounds; C = five
pouvnds

2a. False, £10 on the left, £15 on the nighi
3a. £10, £10

44, 2

Expecied

50. A = £25; B = thirty pounds; C = £15
40. False, £40 on the left, £50 on the righi
7a. £25 £30

8a. 3

Greater Depth

Ta. A = £70; B = £55; C = sixty pounds
10a. False, ££0 on the lef, £50 on the right
11a.£85, £75

12a.7

Varned Fluency
Recoqgnising Notes

Developing

1b. & = £10; B = thirty pounds; C = twenty
pouvnds

2b. Trve

3b. £5, £20

4b. 4

Expecled

5b. A = forty pounds; B= £50; C = £20
&b. False, £25 on the left, £30 on the right
7hb. £40, £50

8b. 5

izredgier Depth

¥b. A = £75; B = eighly pounds; C = £45
10b. True

11b.£45, £65

12b. &



Reasoning and Problem Solving

Step 2: Recognising Notes

Recognising Notes

Recognising Notes

1a. Anna has saved more money than
Ben.

anma has:
i T
L v,

Ben has two of the same note. wWhat could
they be?

17 .

1b. Maya has saved the same amouwnk of
meney as sally.

Maya has:
i et
b J

sally has two notes. What could they be?

T

2a. Orla has two notes in her money box.

Y
" { | have £5 altogether.

Can Orla be comeci?
Explain how you know.

'f.a“.‘f

2b. Tobi has two notes in his money box.

&{ | have £20 altogether.

Can Tobi be comect?
Explain how you know.

v

The amounts below
showld be the same
because they each have
two nofes.

}ﬂ‘!\

W:ifm m |

A

3b.

The first amouwnt is more
because there are more
notes.

}-0

i mm

Do you agree? Explain why.

Do you agree? Explain why.

|5




Recognising Notes

Recognising Notes

4a. Bonny has saved more money than
Susie.

Susie has:

009
®lele,

Bonny has saved less than £30 in two

different notes. what could they be?
A

w

|

4b. Robin has saved more money than
Deepak.

Robin has:

OO0
eee'll

Deepak has two diferent notes. what
could they be?

S5a. Freya has three noles of equal valve
in her money box.

n | have £40 altogether.
B 1{ °

Can Freya be comect?
Explain how you know.

W

5b. Tack has two different notes in his
meney box.

. {I have £35 altogether.

Can Zack be comect?
Explain how you know.

|5 :

&a.

The amounts below
shovld be the same
because they each have
four motes.

}@

&h.
The amownts below
should be the same "
because they each have :
three notes.
~

3 'Fuiﬁ .|-H N
-

A

Do you agree? Explain why.

Do you agree? Explain why.

| _.




Recognising Notes

Recognising Notes

7a. Riley has saved more money than
Rachel

Eachel has:

[ Y Y X
©O0e®

Riley has two of the same note. what
could they be?

f
=

7b. Johnny has saved more money than
D:an.

Johnmy has:

EITI)
=13

an has three of the same note. What
could they be?

o e
=1 P

&a. Zara has lkess than seven nofes in her
money box. She has 3 diferent types of
nofes.

d <[ | have £50 alfogether.

Camn Zara be comeact?
Explain how you know.

ab. Yasmin has vp fo & notes in her
money box.

M | have £75 altogether.

Can Yasmin be comrect?
Explain how you know.

& g
Fa. b.
The amounts below The amouns
e should be different
o £ same because they each have
becavse they each have a ciFIiEfentnumh-EI of
four motes and tvo coins.

Do you agree? Explain why.
e

)

ﬁm

I:.P you agree? E:uphn why-

.
I
i
& )

ey




Eeasoning and Problem Solving
Recognising Notes

Developing

1a. £5 and £5

2a. No. There are no noles with a valve
lower than £5.

3a. Mo. The value of bwo £10 notes is £20.
The value of two £5 notes is £10.

Expeciled
4a. E10and £5 or £20 and £5

5o Mo Es+E5+E5=f15 £10+ £10+ £10
= £30, £20 + £20 + £20 = £40.

&a. Wo. The value of bwo £20 notes and
bwro £10 notes is ££0. The value of three £5
notes and one £330 note is £35.

7o. £5 and £5 or £10 and £10 or £20 and

£ 30

8o Tes. f20+ £10+ £10+ £5 + £5 or
Fp+£10+E5+ £5 + £5 + £5.

#a. Mo. The value of the notes and coins is
impaoriant, not the amount of notes and
coins. One shows £43 and the other £48.

Reasoning and Problem Solving
Recognising Notes

Developing
1b. £5 and £5

#b. Yes5. He could have £10 + £10.
3b. No. The value of three £5 notes is £15.
The value of two £10 nofes is £20.

Expecled
4b. £5 and £10

S5b. Mo. £20 + £10 = £30, £20 + £5 = £25_
fFi1o0+£5=£15.

&b. Mo, The value of bwo £5 notes and one
£20 mofe is £30. The valve of two £10 nofes
and one £20 nofe is £40.

Gregier pepth

7b. £10, £10 and £10 or £5, £5 and £5

8b. yes. £20 + £20 + £20+ £10 + £5 or

£20 + £20+ £10 + £10 + £10 + £5.

b. No. The value of the notes is imporfant,
not the amount of notes. They both show
£50.




Topic—Staying safe around water.

In school—show powerpoint on the system.

Discuss water safety. Different types of water:
ponds, lakes, sea, swimming pools, puddles.

Use the acrostic:

S tay

How Do We Stay Safe around Water? Water Safety

To keep yourself safe when you are in, on or near outdoor water, always
follow The Water Safety Code.

Stay The Water Safety Code helps you to spot the dangers around water:

When out and about near
A way G s

+ It will be cold.

»
o
= ) = It can be difficult to get out.
>~ ]
t h e E Edge ' y portant?
\oJ

E dge =
Water Safety

A Away

=

V" XA

F rom

¢ AN

° F From the -«

= There may be hidden rubbish that
could hurt you.

Vv AUA

« There may be no lifeguards.

= The water may be dirty and could w
make you il

(o]

Discus some of the safety signs they might come across: Discuss/research at
home what they mean.

......“i M\
]
M
SWIM
NO Life jackets
AT YOUR
OWN RISK ‘ DIVING




Discuss the flags you might see when you go to the beach and look at

some of the examples.

Safety Flags
At beaches there are special flags:

« red flag - it is not safe to swim

~ QA

A"

= red and yellow flags — you should only swim
between the flags

» black and white flags — this area s not safe
for swimming

Complete the flag sheets below.

i Yai¥ 1)

u



Beach Safety — Flags and Signs
Match the meaning to the flag, then colour the flag in the correct
colour.

Red flag

This is a warning flag. Never go in
the water when this flag is flying.

Orange windsock
Shows when strong winds are

blowing. Deon't use inflatables
(things to help you float on the
water) when the windsock is flying.

Black and white chequered flag
This area is for surfers,
paddleboards, kayaks and non-
powered crafts.

Do not swim or bodyboard in this
area.

Red and yellow flag
Lifequards patrol this area, making

it the safest place to swim,
bodyboard or use inflatables.




Beach Safety — Flags and Signs
Write the correct meaning next to each flag or sign, then colour them in the correct colour.

The black and white chequered
flag tells us which area is for
surfers and nen-powered craft.
Da not swim in this area

These signs tell you not to do
something e.qg. Mo Swimming.

An orange windsock shows
when strong winds are
blowing. Don't use inflatables
when this is flying.

The red flag is a warning flag.
Mever go in the water when

this flag is flying.

The red and yellow flag tells us
that lifequards patrol this area.
It is the safest place to swim,
bodyboard or use inflatables.

These signs warn of danger e.q.
Beware — deep water.




Topic - Pool safety.
Whether its your local swimming pool or on holiday, pool safety is paramount.
All swimming pools have rules and these rules must be followed to keep you safe.

Take a look at the pool rules poster below and discuss each one and why they are in place.

POOL RULES

-,
S
-
Y,
e

Complete the fun spot the difference activity below.



Pool Safety

There are 8 differences in the pictures below. Can you find them? Circle
them in red.




